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Instructions :

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each question.

3. Question No. -5 and 16-20 are very short answer questions
carrying 1 mark each. They are required to be answered in
one sentence.

4.  Question No. 6-8 and 21-23 are short answer questions
carrying 3 marks each. Answers to them should not normally
exceed 60 words each.
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5. Question No. 9-11 and 24-26 are also short answer
questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

6. Question No. 12-15 and 27-30 are long answer questions
carrying 6 marks each. Answers to them should not normally

exceed 100 words each.
7. Answer should be brief and to the point and the above word
limit be adhered to as far as possible.
e 3
SECTION A

1. T B8 & 3c1€ i higa 3R 741 & = faodia dey gar 2 ¢ (T
[ECTRRCIELY) 1

(a) HI THIHR §

(b) haA TERITRIIE TR |

(c) USRTIRR TR UHTTereh1ieh Tfenfirar gt o
(d) et qui Sfafra §

There is inverse relation between price and demand for the product

of a firm under : (choose the correct alternative)

(a) Monopoly only

(b) Monopolistic competition only

(c) Both under monopoly and monopolistic competition

(d) Perfect competition only
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2. ‘oATgee’ sEeh! fowivar ® ¢ (@ faeew gfio)
(a) chad QUi Tl
(b) HIA UT SFAHTIRIHR
(c) (a) 3R (b) 3
(d) 3T H S T

‘Homogenous products’ is a characteristic of : (choose the correct
alternative)

(a) Perfect competition only
(b) Perfect oligopoly only
(c) Both (a) and (b)

(d) None of the above

3. UM WNT foh Tk a%g i AURINE ShEdl oo T A qeled
(=) TR 21 O wgdt Tdt 7| vt fedfa o divia grfa : (et fomea

9f0)

(a) T|a TraTfed ¥ Aferes gnft
(b) 3TTd TEATT & THH ERft
(c) ofrod genfia & s Bl
(d) = T e
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Suppose total revenue is rising at a constant rate as more and more
units of a commodity are sold, marginal revenue would be :

(choose the correct alternative)

(a) Greater than average revenue
(b) Equal to average revenue
(c) Less than average revenue

(d) Rising

4. I A g e BA 27 1

When does ‘increase’ in supply take place ?

5. 9 3NEd ard for @ 9 Hmid ara 3R SiEd drd ° R ey
RS 1

What is the relation between marginal cost and average cost when

average cost is constant ?

6. Afrenam shiad =T fuior w37 39 i gHeEsu?

HAYAT

If¢ SR hIHA e hAd © A T dl 39 HRUT B aTel T9TET

TEAT FHTST 3
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What is maximum price ceiling ? Explain its implications.

Or

Explain the chain effects, if the prevailing market price is below

the equilibrium price.

7. U JUNRAT hadl &1 F&qA X 3R Y 1 3991 il 2| I X 3R Y
o1 HaTd STATAIT A 4 TR 5 &1 R X 1 | 5 %, i 018 3R]
Y &l 4 %. U SIS 81, T 1 ST S § &7 IGeh! A fcrfoha
1 B ? GHEATST |

A consumer consumes only two goods X and Y. If marginal
utilities of X and Y are 4 and 5 respectively, and if price of X is
Rs. 5 per unit and that of Y is Rs. 4 per unit, is the consumer in
equilibrium? What will be further reaction of the consumer?

Explain.

8. < aigell X R Y il FiHa-Ain o HAw: —2 W -3 B T &
ferEehl Shma-aTT < SAfee g SR w7

Price elasticity of demand of good X is —2 and of good Y is —3.

Which of the two goods 1s more price elastic and why ?

9. T %] hl HHd Ifd A= 2 2| Tk IATEeh 20 &. Tfd RS Al shiAd

T 100 FHTE i YA LT = | FoRE hmd W a8 80 Ieh1s ol (G
HAM?
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Price elasticity of supply of a good is 2. A producer supplies 100
units of a good at a price of Rs. 20 per unit. At what price will he

supply 80 units.

10. T H 9iEcH o SRV Tk a%g shi /T T IS dTel T4 THeTST | 4

Explain the effects of change in income on demand for a good.

11. 3c9Ted %o shl gty A | sTeuertedi= 3 SElehrred = Icared ol

% st e i

HAYAT

AN hl IR SfSTT | ST 3T giard! ATl o si= We shifsie| T
o1 ThH—Teh IaTeL0 Gl 4

Define production function. Distinguish between short run and long

run production functions.

Or

Define cost. Distinguish between fixed and variable costs. Give one
example of each.

12. o QUi it semR ® frefeitad o aioms Swems 6

(a) Sharel it It T

(b) wHT %l TorxT SR fehTelt sht Tord=re
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HAYAT

Teh STTEeRR SIS | ffeiiad & qiom ausse -
(a) BHT shl TR fsfTan
(b) TR-shma gfefirar

Explain the implications of the following in a perfectly

competitive market :

(a) Large number of buyers

(b) Freedom of entry and exit to firms
OR

Explain the implications of the following in an oligopoly

market :

(a) Inter-dependence between firms

(b) Non-price competition

13. ‘ol wEn # ufEdd’ SR el | uiEdd o s T aHETst|
(o o JANT i

Explain the distinction betwen ‘“change in quantity supplied” and

“change in supply”. Use diagram.

e : hae gy arfam vdenfefat & fore wva v 13 & e |

“omgfd wE ® qfEd TR ermgld W i o s 3Tat auEsy|
TTfCTehT T SIRINT hiTSTY |
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14.

15.

16.

Note : For blind candidates in lieu of Q. No. 13.

Explain the distinction between ‘“change in quantity supplied” and

“change in supply”. Use schedule.

SHTHH 5 TITeiyoT | IuvieT dga shi IId aHesy|

Explain the conditions of consumer’s equilibrium using

indifference curve analysis.

I A o Toh & oftf garem At S¥qeti & 3cured | T 9HH 34 el

BIdT, 39 9 ol I T30 1 efeaeen sl 3cared &mdr o e 2|
ST AT GU, 38h! ToRISaTd sy |

Assuming that no resource is equally efficient in production of all
goods, name the curve which shows production potential of the

economy. Explain, giving reasons, its properties.

G iG]
SECTION B

1 foesfl fafma daei w sl foesft fafma d9ea a8 eama 2
(wEt forshed g )

(a) e -

(b) ST -

(c) T@ad d-

(d) FHRISH g oH-ad

58/1/2 9
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Foreign exchange transactions dependent on other foreign

exchange transactions are called : (choose the correct alternative)
(a) Current account transactions

(b) Capital account transactions

(c) Autonomous transactions

(d) Accommodating transaction

17. TSRIYI =TT $Heh THM BT ¢ : (He! foehed FHn)

18.

(a) AT TAH
(b) =0

(c) =ATST YA =T R

(d) =91 T TS YITAH

Fiscal deficit equals : (choose the correct alternative)
(a) Interest payments

(b) Borrowings

(c) Interest payments less borrowings

(d) Borrowings less interest payments

T YoiTa ufE TR % ToastE o AR 9% © ¢ (FE feer gfv)
(a) et ATy feraTs

(b) HIA T I

(c) T forTg TR TefaTa T=reH

(d) o AT ITI=H
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Depreciation of fixed capital assets refers to : (choose the correct
alternative)

(a) Normal wear and tear
(b) Foreseen obsolescence
(c) Normal wear and tear and foreseen obsolescence

(d) Unforeseen obsolescence

19. LR SSTe | TS TIitd 9 =1 ST9m 27 1

What are revenue receipts in a government budget ?

20. ik ki gitymy A5 1

Define stocks.

21. W S digia v wgfw 0.8 31 Faw # feadt gfg 6
TEvTRAT STt daifeh TR ™ ¥ 2000 HUS & I Jfg & Teh?
e shisT | 3
Suppose marginal propensity to consume is 0.8. How much

increase in investment is required to increase national income by
Rs. 2000 crore ? Calculate.
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22. IR $Hd W Had goa iy 3 A

(g %.)
(i) 59N o Sftad hiet shi TR gSia awgy 15
(i)  hedl HIA 6
(i) fosht 25
(iv) @i b faa g (-) 2
(v) e W 1
Find net value added at market price :

(Rs. lacs)
(1)  Fixed capital good with a life span of 5 years 15
(i) Raw materials 6
(i) Sales 25
(iv) Net change in stock )2
(v)  Taxes on production 1

23. Higta A yght ot ofwa 3uam g # 9 Hifse)| us anferd
3STET ity

AT

ST 1 A T T U hl R THEET)

Distinguish between marginal propensity to consume and average

propensity to consume. Give a numerical example.
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24.

25.

26.

Or

Explain the role of taxation in reducing excess demand.

THETET, “sfeh G0 0T Gl W =101 W | Sl werreh gl 87

Explain how ‘bank rate’ is helpful in controlling credit creation?

M SEAT o S I AT B % Y OhR T o]
2| SUHT Tohel BiT] 3cUTE AR A0l T B aTcl T9IEl Rl forversor
i

Government incurs expenditure to popularize yoga among the
masses. Analyse its impact on gross domestic product and welfare

of the people.

5T 1 o 999 i awenst| axg fafme % wRer 3w geted
T 399 S 7

AT

ST 1 1@l I SIS 1Y GHEISY| % TIm o hror 3cqd Fated

GHET 39Y HE LTS ¢

Explain the ‘store of value’ function of money. How has it solved

the related problem created by barter ?

Or

Explain the ‘unit of account’ function of money. How has it solved
the related problem created by barter ?
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27.

58/1/2

" AT R Had 9ie] 3@’ 3R Sforeh 3T J1d hifeC ;

(1)
(ii)
(iii)
(iv)
(V)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)

fortrn

fargeti =t fHae =ITe] geara
QPRI

o
SFHHATIET 1 AT

enlt gl ‘CH(’LS%(‘I]CI{UI

SIS
HAforafa oy

AT

farasti =t fHa@ Se 3T A
HTHR ! B el 3T

(FSE.)
200

10
60
100
900
150
400
50
250
(5)10
120

Find net domestic product at factor cost and personal income :

(i)
(ii)
(iii)
(iv)
(V)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)

Rent

Net current transfers to abroad
National debt interest

Corporate tax

Compensation of employees
Current transfers by government
Interest

Undistributed profits

Dividend

Net factor income to abroad

Income accruing to government
14

(Rs. crores)

200
10

60
100
900
150
400
50
250
() 10
120



28. (a) YTAW GgH i@l o fohd Iuch@l # 3R forg 987 W wwa # foram
T foresft ot ot fomam o ? semor SifSiuy

(b) v ® foesft faer &1 fafomar @t w == wvre ugm ? gz | 3,3

(@) In which sub-account and on which side of balance of
payments account will foreign investments in India be

recorded ? Give reasons.

(b) What will be the effect of foreign investments in India on

exchange rate ? Explain.

29. 3IYANT 9% 9 S9d 9% I HISU R 3@ gfsn § fou SA a9 =1
18T | TG skl T hHIfSU| 6

Given consumption curve, derive saving curve and state the steps

taken in the process of derivation. Use diagram.

e : Ao g faenfdt & fore wea wwat 29 & o W)
I Fedd oh HZeh YHSTSU | SUHNT Held 8 S<d Hedd ITH hIfSU]|

Note : For Blind Candidates in lieu of Q. No. 29.

Explain the components of consumption function. Derive saving

function from consumption function.
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30. TIHRI TSI T =7 THIST o 3T 3Tfeieh H-RIAT shl TGO o foraor
T YN ST o FTT 78 T foham ST HehdT =1

HAYAT

TR Ie1E U Toa Wit 8 7 ST 2| THST foh Tiehi) s oA
STfearEe | shind feorar @ | fore Tohr ST foram St Hemar 2

What is government budget ? Explain how taxes and subsidies can

be used to influence allocation of resources.

Or

Define revenue receipts in a government budget. Explain how
government budget can be used to bring in price stability in the

economy.
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